
Teacher’s Notes for Activity Sheet 3

1. 3 x 3 has a magic constant of 15; 5 x 5 has a magic constant of 65; 13 x 13 has a
magic constant of 1,105.

2. 3 x 3’s middle number is 5; 5 x 5’s middle number is 13; 13 x 13’s middle
number is 85.

3. a) no, middle number should be 5.
b) no, the middle number should be 13.
c) yes, all rows, columns, and main diagonals add to 175, the magic constant.
d) no, the magic constant is 65 and row three’s sum is 58.
4. The middle number is 41.  The magic constant is 369.

3 7 4 8 5 9 7 0 8 1 2 1 3 2 4 3 5

3 6 3 8 4 9 6 0 7 1 7 3 3 1 4 2 5

2 6 2 8 3 9 5 0 6 1 7 2 7 4 4 1 5

1 6 2 7 2 9 4 0 5 1 6 2 6 4 7 5 5

6 1 7 1 9 3 0 4 1 5 2 6 3 6 5 7 6

7 7 7 1 8 2 0 3 1 4 2 5 3 5 5 6 6

6 7 7 8 8 1 0 2 1 3 2 4 3 5 4 5 6

5 7 6 8 7 9 9 1 1 2 2 3 3 4 4 4 6

4 7 5 8 6 9 8 0 1 1 2 2 3 3 4 4 5


